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1. ����
��������������������������
���� ������ ������ ���������� ���
��
!�� 

 

    1.1 ������
���� 

 

�������	�
����

������
���������	�������� ����� �!�� ������������"#�� 
$���%��� ��&�����'�!�� "()��*�%�����"#�� +����!����"#�� ,-�!������#�-��# 5 +/ �*�+� �0�1�#�,���

!���2 �(- !������#��*�+� �0�1�#�,��� 40×40×40 $��!�$�!� (RR1) !������#��*�+� �0�1�#�

,���50×50×50 $��!�$�!� (RR2) !������#��*�+� �0�1�#�,��� 60×60×60 $��!�$�!� (RR3) �*�

�*����'�������:��0;�!�,������-�  ���!������#��*�+� �0�1�#�,��� 60×60×60 $��!�$�!��*�
����*����'������� (NR) 01�%����!�����*� 1 �(- ����� �,-�!������#��*�+� �0�1�#�,��� 

40×40×40 $��!�$�!� !������#��*�+� �0�1�#�,��� 60×60×60 $��!�$�!� ���!������#��*�+� �

0�1�#�,��� 60×60×60 $��!�$�!��*�����*����'�������  �*�����!�!�������=�!�-�����*����'���> 

:�� !������#��*�+� �0�1�#�,��� 60×60×60 $��!�$�!��*�����*����'��������*����� �����*��#� 

$�����? 1.398 $�!� �-������(- !������#��*�+� �0�1�#�,��� 60×60×60 $��!�$�!��*��*����'����

��� �*����� � 1.167 $�!� �'�1��?!������#��*�+� �0�1�#�,��� 40×40×40 $��!�$�!��*����� �

��-��*��#��(- 0.902 $�!� ����!������#��*�+� �0�1�#�,��� 50×50×50 $��!�$�!� ����*����

�!�!�������=�!���?!������#��*�+� �0�1�#�,��� 60×60×60 $��!�$�!��*��*����'������� ���!��

����#��*�+� �0�1�#�,��� 40×40×40 $��!�$�!� �(-�*����� �$�����? 1.008 $�!� �'�1��?����

��������"#��  !������#��*�+� �0�1�#�,��� 40×40×40 $��!�$�!���?!������#��*�+� �0�1�#�

,��� 60×60×60 $��!�$�!��*�����*����'�������  �*�����!�!�������=�!�-�����*����'���> �!�

��1����!������#��*�+� �0�1�#�,��� 50×50×50 $��!�$�!� ���!������#��*�+� �0�1�#�,��� 

60×60×60 $��!�$�!� ����*�����!�!�������=�!�  !������#��*�+� �0�1�#�,��� 60×60×60 
$��!�$�!��*�����*����'��������*���������,-����"#������*��#� �(- 1.655 $�!�  �-������(- !�� 
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�����	
��
������������	 60×60×60 ���������  �����������	
��
������������	 50×50×50 
���������  	!���"���"���
��#�$��
$���% 1.257 ���� ��� 1.165 ���� ����)�	�% *$"���������	
��


������������	 40×40×40 ������������"���"���
��#�$���,!
��*�	�-, 0.881 ����  #-/�
��0�"


��#�$� #%"$���������	
��
������������	 40×40×40 ��������� ��������	
��
������������	 

60×60×60 ��������� �����������	
��
������������	 60×60×60 ���������
��1�$�����2)���	

���  ���"������$��
��*3���,!$������!*)���4  	!��������	
��
������������	 60×60×60 
���������
��1�$�����2)���	�����#-/�
��0�"
��#�$����
��*�	 �-, 8.232 ��������� �,������-,���

�����	
��
������������	 60×60×60 ��������� �-, 5.006 ��������� *)����%��������	
��
�����

�������	 50×50×50 �����������#-/�
��0�"
��#�$��
$���% 3.812 ��������� 1�$���"������$��


��*3�����%��������	
��
������������	 60×60×60 ��������� �����������	
��
���������

���	 40×40×40 ����������6����#-/�
��0�"
��#�$���,!
��*�	�-, 2.597 ��������� *$"��,�
������


��#�$���������	
��
������������	 40×40×40 ��������� ��������	
��
������������	 

60×60×60 ��������� �����������	
��
������������	 60×60×60 ���������
��1�$�����2)���	

��� ���"������$��
��*3���,!$������!*)���4  	!��������	
��
������������	 60×60×60 
���������
��1�$�����2)���	�����
������
��#�$����
��*�	 �-, 3.78 ���%�8�9���� �,������-,���

�����	
��
������������	 60×60×60 ��������� �-, 1.81 ���%�8�9���� *)����%��������	
��
���

���������	50×50×50 �����������
������
��#�$��
$���% 1.32 ��������� 1�$���"������$��


��*3�����%��������	
��
������������	 60×60×60 ��������� �����������	
��
���������

���	 40×40×40 ����������6����
������
��#�$���,!
��*�	�-, 0.792 ���%�8�9���� 
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�������� 2 ���:;�
��*�;<��"�
!��,���������	,�!� 5 
=
��
������������	�$��> 

���	����  
(���������) 

�$��A���!�"��*�� 
(����) 

�$��A���!
�*��0$�8��!9����

��#�$� (����) 

�$��A���!#-/�
��0�"

��#�$� 

 (���������) 

�$��A���!
������

��#�$� 

(���%�8�9����) 
RR1 
RR2 
RR3 
NR 
F-Test 
C.V.(%) 

0.902c 
1.008bc 
1.167b 
1.398a 

* 
15.96 

0.881c 
1.165b 
1.257b 
1.655a 

* 
9.56 

2.597c 
3.812bc 
5.006b 
8.232a 

* 
23.32 

0.792c 
1.32bc 
1.81b 
3.78a 
* 

36.79 

* ���"������$��
��*3���,!$������!*)���4
����	�% p≤0.05  
�$��A���!
���)���%	�"!,��:��$"�������,���R9�	�!"���1�$���"������$��
��*3���,!$����
��!*)���4�
��!%�
�!%�$��A���! 	!"�S� LSD 

RR1 = ��������	
��
������������	 40×40×40 ���������
�������2)���	��� 

RR2 = ��������	
��
������������	 50×50×50 ���������
�������2)���	��� 

RR3 = ��������	
��
������������	 60×60×60 ���������
�������2)���	���  

NR = ��������	
��
������������	 60×60×60 ���������
��1�$�����2)���	��� 
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����� 1 �
��!%�
�!%���:;�
��#�$��,���������	,�!� 5 
=
��
������������	�$��>  

(�)  ��������	
��
������������	 40×40×40 ���������
�������2)���	���  

(�)  ��������	
��
������������	 50×50×50 ���������
�������2)���	���  

(�)  ��������	
��
������������	 60×60×60 ���������
�������2)���	���  
        (�-� �����2)���	��� 	!���$�!1��,�)   

(�)   ��������	
��
������������	 60×60×60 ��������� 	!1�$�����2)���	��� 
 

2��R�#2���X�1	�"$����:;�
��#�$��,���������	
��
������������	�$��> (R�#
�� 1) ��

���:;�
��#�$�
������$������-, ��������	
��
������������	 60×60×60 ���������
��1�$�����

2)���	������"��*�����
��*�	 �,������-, ��������	
��
������������	 60×60×60 ���������  

50×50×50 ��������� ��� 40×40×40 ���������
�������2)���	��� ����)�	�% �6��
������
��#�$�

�����	����$�����,!$����X�1	�Y�	  	!��������	
��
������������	 60×60×60 ���������
��1�$��

���2)���	�����
������
��#�$����
��*�	 �,������-, ��������	
��
������������	 60×60×6

� � 

� � 
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��������� ��������	
��
������������	 50×50×50 ��������� �����������	
��
������������	 

40×40×40 ���������
�������2)���	��� ����)�	�% 
   

  1.2 ������ 

 

 ��������� 

���,,�	,��,���������	,�!� 5 
= �6�������2)���	��� 	!����
�������	����$����� 
)����
1	���
�$��
��#�$��,���������	
������$����� *$�0�������,,�	,����	1	�1�$#��,���� 	��R�#
�� 2 

���,,�	,��,���������	
��
������������	 60×60×60 ���������
��1�$�����2)���	���  ������

�����	
��
������������	 60×60×60 ���������
�������2)���	������	�6/��$,�  	!�����,,�	,�

���/������"��
�� 28 ������ 2549 �,����� �-, ��������	
��
������������	 50×50×50 
���������  �����,,�	,����/������"��
�� 29 ������ 2549 *)����%��������	
��
������������	 

40×40×40 ���������  ���,,�	,����	�6/�Y��
��*�	 �����,,�	,����/����"��
�� 30 ������ 2549 
��!��"�����,,�	,��,���������	
�/� 4 *���
	�,� ,!�$��Y$"� 2-5 *�
	��9  	!��������	
��
�����

�������	 50×50×50 ��������� �Y��"����,!
��*�	
����; 2 *�
	��9 !�"�6/����-,��������	
��


������������	 60×60×60 ���������
�������2)���	��� 
����; 3 *�
	��9 �����������	
��


������������	 40×40×40 ���������  
����; 4 *�
	��9 *)����%��������	
��
���������

���	 60×60×60 ���������
��1�$�����2)���	���  �Y���!��"�����,,�	,����
��*�	 �-, 5 
*�
	��9 
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����� 2 �
��!%�
�!%Y$"��"�����,,�	,��,���������	,�!� 5 
= 
��
��������	�����$��> ��� 
              ��Y$"��	-,������� 36��	-,���:�!� 2549 

RR1 = ��������	
��
��������	���� 40×40×40 ���������
�������2)���	��� 

RR2 = ��������	
��
��������	���� 50×50×50 ���������
�������2)���	��� 

RR3 = ��������	
��
��������	���� 60×60×60 ���������
�������2)���	���  

NR = ��������	
��
��������	���� 60×60×60 ���������
��1�$�����2)���	��� 
 

���������������� 

 2��R�#
�� 3 ��X�1	�"$�������2�!�,�	,�����������	
�/� 4 *���
	�,���������2�!�,�
	,�
��"
�/�
��#�$� 	,�*$"���4$2����	%���";#-/�0�"�,�
��#�$� *)����%������	�$"��,�	,�
�����	 #% ������	�$"����	%���";*$"�%��,�
��#�$��
Z�*$"���4$  	!���-,��������������	
�/� 
4 *���
	�,� ��-�,�
��!%�
�!%�
,�9��X��9�����	0��,������	 #%"$���������	
��
������������	 

60×60×60 ���������
��1�$�����2)���	������
,�9��X��9�����	0��"�
�/����*��*�	 �-, 66.26 
�
,�9��X��9 ��
�8��"��,,��A �!����-,���
,�9��X��9�����	0�*��
��*�	
�/� 4 *���
	�,�  	!��������	


��
������������	 40×40×40 ���������  ���
,�9��X��9�����	0�*��
��*�	 �-, 20 �
,�9��X��9 *$"�

�
,�9��X��9����$"��,�0� #%"$���������	
��
������������	 50×50×50 ������������
,�9��X��9
����$"��,�0��"�
�/����*��*�	 �-, 51.84 �
,�9��X��9 #%���
��*�	��
�8��"��,,��A�!����  	!���

�����	
��
������������	 40×40×40 ���������  ���
,�9��X��9����$"��,�0�*��
��*�	 �-, 18.23 
�
,�9��X��9  	���*	��������
�� 3      

 

            28 29 30 31 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1516 17 18 19 20 21 22 23 24 25 26 27 28 29 30  

            ������                                                ��:�!�  

RR1 
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������  3 
��
��
�
��������������������� !�"#����# 5 �%�
&��'()���# ��������*  

(() ��� !�"#��
&��'()���# ���� 40×40×40 
-���
 ��  

(�) ��� !�"#��
&��'()���# ���� 50×50×50 
-���
 ��  

(") ��� !�"#��
&��'()���# ���� 60×60×60 
-���
 ��  

       ((-"  
(��/��(!���(0��������1�������� 32  mesh)  

(�) ��� !�"#��
&��'()���# ���� 60×60×60 
-���
 ���
&1 � 
(��/��(!���( 

                    ��� !�"#��
& 
(�������           ��� !�"#��
&����6� 

E 

N 

 

 

 
 

� " � 

 
 

( 



 

 

  20           
 

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6
 

 

 

 

 

 

 

 

 

 

 

������  3 
��
��
�
��������������������� !�"#����# 5 �%�
&��'()���# ��������*  

(() ��� !�"#��
&��'()���# ���� 40×40×40 
-���
 ��  

(�) ��� !�"#��
&��'()���# ���� 50×50×50 
-���
 ��  

(") ��� !�"#��
&��'()���# ���� 60×60×60 
-���
 ��  

       ((-"  
(��/��(!���(0��������1�������� 32  mesh)  

(�) ��� !�"#��
&��'()���# ���� 60×60×60 
-���
 ���
&1 � 
(��/��(!���( 

                    ��� !�"#��
& 
(�������           ��� !�"#��
&����6� 

E 

N 

 

 

 
 

� " � 

 
 

( 
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�������� 3  ������	
���
����������
��������������������� 5 �� !"��#
$�%�����������& 

����%���  
(�	�������) 

������	
���
������� 
      NW      NE      SW     SE      ��� 

������	
���
����������� 
      NW     NE      SW      SE  ��� 

RR1 
RR2 
RR3 
NR 

12.78   20.00   10.94    6.77   50.49 
12.5     19.64    8.33    7.69   48.16 
10.81   17.11    9.30  17.22   54.44 
17.17   19.52  16.26  13.31   66.26 

12.22  5.00 14.06  18.23 49.51 
12.5    5.36 16.67  17.31 51.84 
14.19  7.89 15.70    7.78 45.56 
 7.83   5.48   8.74  11.69 33.74 

(NW =  �7������
�8!���%�9�, NE =  �7�������
�8!���%�9�, SW =  �7�������
�8!��$�;,  
   SE =  �7�������
�8!��$�;) 

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  

NR = �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
 
 


����
�������� 

�%
�>�;���
�����������;�������$�?����%� !" 7 %���<�
��
@�� !"��#
$�%������� 

40×40×40 �	������� �;������� !"��#
$�%������� 50×50×50 �	������� �;������� !"��#
$�

%������� 60×60×60 �	������� !"�!
��<=�
����
  ����;������� !"��#
$�%������� 60×60×60 
�	������� !">���!
��<=�
����
 �!������
���� ��?A���������!���?=���B��%�����;������� !"��#
$�

%������� 40×40×40 �	������� 
�@�;������� !"��#
$�%������� 60×60×60 �	������� !">���!


��<=�
����
 C���;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
  
�����

���
���DE���
 !"?���8�!"��;��� 32 �� ��������9� �;������� !"��#
$�%������� 60×60×60 

�	������� !"�!
��<=�
����
  ����;������� !"��#
$�%������� 50×50×50 �	�������  �8�!"�
��
������;��� 23 ��� 18 �� ����=���@ 	D"�>���!������
���� ��?A���
�@�;������� !"��#
$�%���

���� 60×60×60 �	������� !">���!
��<=�
����
 ����;������� !"��#
$�%������� 40×40×40 

�	�������  ?����;������� !"��#
$�%������� 40×40×40 �	��������!
��������;�� !"?���8�!"�
�;��� 10 �� (F�G !" 4) 
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������  4 ���!�@� !�@�����H
��������8�!"�����;����������� 5 ��  !"��#
$�%�����������& 

             (* �!������
���� ��?A���������!���?=���B !"����@ p≤0.05) 
��
K� !"
=�
�@� ��
��L����
��>���!������
���� ��?A���������!���?=���B���!�@� !�@��� 
�8�!"�C����M! LSD 

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  

NR  = �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
 
 

�������������� 

<�
F�G !" 5 <=�������8�!"�����;���������� !"��#
$�%������� 40×40×40 �	�������  

����;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
 �!������
���� ��

?A���������!���?=���B �9� �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
  
�!�����H�������8�!"�?#� !"?�� �9� 31 ������;� ��������9��;������� !"��#
$�%������� 

60×60×60 �	������� !"�!
��<=�
����
  ����;������� !"��#
$�%������� 50×50×50 �	�������  
�!<=�������8�!"��;��� 19 �� ��� 14 ������;� ����=���@ $�?�������;������� !"��#
$�%���

���� 40×40×40 �	�������  �!<=�������8�!"��"=� !"?�� �9� 10 ������;� 
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������ 5 ���!�@� !�@�����H�������8�!"�����;����������� 5 ��  !"��#
$�����%�������& 

               (* �!������
���� ��?A���������!���?=���B !"����@ p≤0.05) 
��
K� !"
=�
�@� ��
��L����
��>���!������
���� ��?A���������!���?=���B���!�@� !�@��� 
�8�!"�C����M! LSD 

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  

NR = �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
 
 

�������������������� 
<�
F�G !" 6 �%
�>�;��������H�E=�%��
�������8�!"�����;���������� !"��#
$�%������� 

40×40×40 �	������� ����;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
��

��
 �!������
���� ��?A���������!���?=���B �9� �;������� !"��#
$�%������� 60×60×60 
�	������� !">���!
��<=�
����
  �!�E=�%��
�������8�!"���
 !"?���;��� 1.76 
�C�
��� ��������9�

�;������� !"�!%������� 60×60×60 �	������� !"�!
��<=�
����
 ����;������� !"��#
$�%������� 

50×50×50 �	������� �!�����H�������8�!"��;��� 1.23 ��� 0.95 
�C�
��� ����=���@ 	D"� �E�?��

?�"� ����>���!������
���� ��?A���
�@?�"� ��������;������� !"��#
$�%������� 60×60×60 

ab 

ab 

a 

��
���
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��
���
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�!"�
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���
;�)
 

b* 



 24 

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

�	������� !">���!
��<=�
����
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$�%������� 40×40×40 �	�������  $�?���

����;������� !"��#
$�%������� 40×40×40 �	�������  �!�E=�%��
�������8�!"��;�� !"?�� �9� 0.54 
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������  6 ���!�@� !�@�����H�E=�%��
�������8�!"�����;����������� 5 ��  !"��#
$�%�����������& 

 (* �!������
���� ��?A���������!���?=���B !"����@ p≤0.05) 
��
K� !"
=�
�@� ��
��L����
��>���!������
���� ��?A���������!���?=���B���!�@� !�@��� 
�8�!"�C����M! LSD 

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
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��<=�
����
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1.3 "��������#$� 

 

�����%�����"&������#$� 

 
��7D
K�
��G�R��
����������������F�G !" 7 ���"� =�
���

@�;��#�
������������
��E�������"���
@�� <�
�� �"���;�?#�����
���

@�
!"�������� (?����%� !" 13) G@��� �;������� !"�!

����%��� 40×40×40 �	�������  �!
��G�R��������������;�� !"?�� C���!������
���� ��

?A���������!���?=���B
�@�;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����


C��������>���� (?����%� !" 10-13)  ��������$��;� !"�!%������� 40×40×40 �	�������  �!
������


���������;�������$�%��������9"�&  	D"����"��;�$�?����%� !" 1 ���!����$
�;��!��
�� 
$�?����%� !" 2 ���?����%� !" 3 
��G�R��
��������!������
����
��>����
��
 ���<����"��%
�
������
����
�������T���<���9"����"���;�?#�?����%� !" 4 ���<��%
�>�;�����T���<���"��DE���9"��������
���G�"��DE���9"��& <�
�� �"�$�?����%� !" 13 	D"���U�?����%�
���

@�
!"�� <��%
�>�;������������
���������"��!������
���� ��?A���������!���?=���B��E����?����%� !" 9 ��U��;�>�  C���!������
����

 ��?A���������!���?=���B��%����������;������� !"��#
$�%������� 60×60×60 �	������� !">��

�!
��<=�
����

�@������;������� !"�!%������� 40×40×40 �	������� $��;������� !"��#
$�

%������� 60×60×60 �	������� !">���!
��<=�
����
 �!
��������������
 !"?�� �8�!"�� ��
�@ 

48.51 ��������� ��������9� ������;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��

<=�
����
 � ��
�@ 46.24 ��������� ?������;������� !"��#
$�%������� 50×50×50 �	������� 

� ��
�@ 47.16 ��������� ���?=�%��@������;������� !"�!
����#
$�%������� 40×40×40 
�	��������!
�������������;�� !"?��� ��
�@ 44.14 ��������� 	D"�A9�����!
��G�R��
�������
�"=�?�� 
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������ 7 ���!�@� !�@
��G�R��
���������E�����������"������<�
�� �"����"��

@�
!"�������� 
               ������������� 5 ��  !"��#
$�%�����������& 

             (     =��
���� ��?A���������!���?=���B !"����@ p≤0.05 ���!�@� !�@C�� LSD) 

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  

NR = �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
 
 
   �()��*�+,��-������ 


���������C���@�����
��
��<���������?;����7#���
�������U��V<<��$�
���������
�������� !"��#
<�
�;� !"�!?�"� ������
����
�� C�� =�
�����������<�
<=������ �E�%�� 168 

�� <�
F�G !" 8 �%
�>�;��� �������� !"�
��<�
�;� !"��#
$�%������� 60×60×60 �	������� !">���!

��<=�
����
�!����$%B� �?;����7#���
���?#�?��$�T��� 46-50 ��������� �8�!"� 26 �� ?����� !"�!
�?;����7#���
�����

��� 50 ��������� �8�!"� 17 �� ��<�
�;������� !"��#
$�%������� 
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40×40×40 �	�������  ��� 60×60×60 �	������� !"�!
��<=�
����
�?;����7#���
����!���$
�;��!��

�� 

 
 

 
 

 
 
 
 
 
 
 
 
 
  
 

������ 8 ���!�@� !�@
��
��<����������?;����7#���
�����
�@<=����������;����������� 5 ��  
               !"��#
$�%�����������& 

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  

NR = �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
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��<�������C��$T;�?;����7#���
�������;� ����!
��
�������C��$T;
��
��<���������E=�%��
����U��
HW�$�
����������� ���F�G !" 9 �%
�>�;���

������������;� !"��#
$�%������� 40×40×40 �	�������  �!�E=�%��
������;����U�?���$%B� 	D"�
�E=�%��
�����?���$%B���#�$�T��� 31-40 
��� �!�8�!"� 18 �� $�������;������� !"��#
$�%���

���� 60×60×60 �	������� !"�!
��<=�
����
  ���������;������� !"��#
$�%������� 
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�����?���$%B�$�T��� 41-50 
��� �8�!"� 13 ��� 7 �� ����=���@ 

?���$�������;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
  �!�E=�%��

�����?���$%B���#�$�T��� 51-60 
��� �8�!"� 19 �� 

 
 

 
 
 
 
 
  
 
 
 
 
 
 

 

 

������ 9 ���!�@� !�@
��
��<������E=�%��
��
�@<=����������;����������� 5 ��  !"��#
$� 
              %�����������& 

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  

NR = �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
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��
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�E=�%��
�� (
���) 

 1.4 (��������"&��)����#$�1�2*����%�����"&��� 

  
(���&���+1�2*���3�3�������������&� 
�;��#� ������������ ����%������9��
��F�G��M� AD���9��
�
X��� 2549 >�;�
� ��H%F#��

?#�?��-�"=�?�� �����H�E=�Y� ������
�����%��E=�$��������9�� <�
?A��!��
�7�
K����%�?� 
�=��F�%��$%B� <��%���?���� G@��� �������� =�
�� ������E������9��
��F�G��M� AD���9��

�
X��� 2549 �!��H%F#��?#�?��$���9����K��� �9� 33.9 ��7��	��	!�? �����H%F#���"=�?��$�
��9���!���� �����9��GZKF��� �9� 24.4 ��7��	��	!�? �����H�E=�Y�?#�?��$���9����K��� 
192.6 ��������� �����H�E=�Y��"=�?��$���9��
�
X��� 53.4 ��������� ���
�����%�����E=�?#�?��
$���9���!���� 159 ��������� ����"=�?��$���9��GZKF��� �����9��
�
X��� 108.9 ��������� 
(F�G !" 10)  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
������ 10 ��H%F#��?#�?��-�"=�?�� �����H�E=�Y� ������
�����%��E=�$���9��
��F�G��M� AD���9�� 
               
�
X��� 2549 
   !"�� : ?A��!��
�7�
K����%�?� �. %��$%B� <. ?���� 
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(��������"&��)����#$� 


��7D
K��;��#� ���;��?�!��� ����������� !"��#
C��
��<=�
��������
$�%�������
����&  ���"� =�
���

@�;��#���E������� !" 22 ��K��� 2549 <�AD���� !" 8 ��A����� 2549 $�T������� 
11:00 �. AD� 13:00 �. C���

@�;��#� 2 ?����%�������E� C���

@�;��#���������H�?���
 ��G��� ���
7�
������E=�$�$@ ���
��T�
�=���
$@ ������C�L\���L�#����?�	
��� �������T9E�$���� ������
�����H�?�$� ��G��� G@��� �����H�?���
 ��G���?#� !"?��$�T��������
 !" =�
����� �9� ��� !" 
22 ��K��� 2549 �!�����H�?� 1539.86 >�C��C��������������������� ! ���$���� !" 25
GZKF��� 2549 �!�����H�?���
 ��G����;�� !"?�� �9� 1107.99 >�C��C�����������������
���� ! (F�G !" 11)  

$�
������;��#��9"�& ���;��?�!��� �� G@��� ���7�
������E=�$�$@>���!������
���� ��
?A���$�T��� !" =�
����� C��$�T��������
 !" =�
����� �9���� !" 22 ��K��� 2549 ���7�
������E=�$�

$@����;��������!����"=� !"?�� C���;������� !"��#
$�%������� 40×40×40 �	��������!���?#� !"?�� 

������� �9� �;������� !"��#
$�%������� 50×50×50 �	�������  �;������� !"��#
$�%������� 

60×60×60 �	������� !"�!
��<=�
����
 ����;������� !"��#
$�%������� 60×60×60 �	�������
 !">���!
��<=�
����
 ����=���@ %���<�
��E�G@������7�
������E=�$�$@?#��DE���9"��&<�
�� �"� $�T���

��� !" 25 ��K��� 2549 �!���7�
������E=�$�$@?#� !"?�� �9� �;������� !"��#
$�%������� 40×40×40 
�	�������  �!���7�
������E=�$�$@� ��
�@ ]0.4 ��
���?��� ��������9� �;������� !"��#
$�%���

���� 50×50×50 �	������� ����;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��
<=�
����
 C���!���7�
������E=�$�$@� ��
�� �9� ]0.43 ��
���?��� ?����;������� !"��#
$�%���

���� 60×60×60 �	������� !">���!
��<=�
����
�!���7�
������E=�$�$@�"=� !"?�� �9� ]0.45 ��

�
��?��� (F�G !" 12
) 

 ?����;��
�@���
��T�
�=���
$@ �������T9E�$���� �9� $�T������ !" 22 ��K��� 2549 ���


��T�
�=���
$@�!���?#� !"?�� �9� �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��
<=�
����
C���!���
��T�
�=���
$�?#� !"?�� 344.44 �����C��������������������� ! ��������9� 

�;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
 �;������� !"��#
$�%���

���� 50×50×50 �	�������  ����;������� !"��#
$�%������� 40×40×40 �	�������  C���!���

��T�
�=���
$@� ��
�@ 298.17, 281.11 ��� 240.39 �����C��������������������� ! ����=���@ 
?���$���� !" 25 ��K��� 2549 ���
��T�
�=���
$@�!����"=� !"?�� $��;������� !"��#
$�%������� 

60×60×60 �	������� !">���!
��<=�
����
�!���
��T�
�=���
$�?#� !"?�� 189.92 �����C����������

����������� ! ��������9� �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
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�;������� !"��#
$�%������� 50×50×50 �	�������  ����;������� !"��#
$�%������� 

40×40×40 �	�������  C���!���
��T�
�=���
$@� ��
�@ 189.33, 164.82 ��� 144.82 �����C�����
���������������� ! ����=���@ (F�G !" 12�)  

�������T9E�$����  G@��� $���� !" 25 ��K��� 2549 �������T9E�$����?#� !"?�� �9� �;�������

 !"��#
$�%������� 40×40×40 �	��������!�������T9E�$����� ��
�@ 30.56 ������	
��� �������

�9� �;������� !"��#
$�%������� 50×50×50 �	�������  ����;������� !"��#
$�%������� 

60×60×60 �	������� !"�!
��<=�
����
  �!����T9E�$����� ��
�@ 28.92 ��� 28.89 ������	
��� ?���

�;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
  �!�������T9E�$�����"=�
 !"?�� �9� 28.87 ������	
��� (F�G !" 13
)  

������C�L\���L�#����?�	
���>����
����
����
��
 �E��;������� !"��#
$�%������� 

40×40×40 �	�������  �;������� !"��#
$�%������� 50×50×50 �	������� �;������� !"��#
$�

%������� 60×60×60 �	������� !"�!
��<=�
����
  ����;������� !"��#
$�%������� 60×60×60 
�	������� !">���!
��<=�
����
 (F�G !" 12�)  

?=�%��@�����������H�?�$� ��G��� G@��� �����H�?��%�9� ��G����!���?#� !"?�� �������
�9� �����H�?�
��� ��G��� ��������H�?�$�; ��G�������=���@ C�������H�?�$� ��G����!���
?#� !"?��$���� !" 22 ��K��� 2549 C�������H�?��%�9� ��G�������;������� !"��#
$�%������� 

40×40×40 �	��������!���?#� !"?�� �9� 1669.17 >�C��C��������������������� ! ��������9� 

�;������� !"��#
$�%������� 50×50×50 �	������� �;������� !"��#
$�%������� 60×60×60 

�	������� !"�!
��<=�
����
  ����;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��
<=�
����
 �!�����H�?� 1439, 1432.17 ��� 1132.83 >�C��C��������������������� ! �����H

�?�
��� ��G����T��
�� �;������� !"��#
$�%������� 40×40×40 �	�������  �!���?#� !"?�� �9� 

816.67 >�C��C��������������������� ! ��������9� �;������� !"��#
$�%������� 50×50×50 

�	������� �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  ����;������� !"

��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
 �!�����H�?� 700.17, 649.17 ��� 
549.83 >�C��C��������������������� ! ����=���@ ���$������H�?�$�; ��G��� �;������� !"

��#
$�%������� 40×40×40 �	�������  �!���?#� !"?�� �9� 331.83 >�C��C�����������������

���� ! ��������9� �;������� !"��#
$�%������� 50×50×50 �	�������  �;������� !"��#
$�%���

���� 60×60×60 �	������� !"�!
��<=�
����
�!�����H�?� 308.33 ��� 187.33 >�C��C�����

���������������� ! ����!�����H�?��;�� !"?��$��;������� !"��#
$�%������� 60×60×60 
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��
���
H�

?�
 (>
�C
��
C�
��
���
��
��
��
��
���
���
� 
!) 

��� !" =�
�� ���� 

�	������� !">���!
��<=�
����
�!�����H�?� 137.33 >�C��C��������������������� ! (F�G !" 13
�)  

?=�%��@���������
  =�
��7D
K�
�����
��<�������
������ !"����@����& <�
������ 
���������������
����;������� C��$T;C���
�� Dias root length ��U����T���$�
���=���H  	D"�
G@���
��
��<�������
 !"G@?���$%B���U�
�����
��<�������
$������"���

���$������� 
��9"� =�
�����!�@� !�@
�����
��<�������
 !"����@�����D
����& ��������� G@���
�����

��<�������
�;�������<��
��>�;�! !"?�� !"����@�����D
��%���� 10 AD� 20 �	������� $� �
�;�

������ !"��#
$�%�����������& 	D"�G@���$��;� !"��#
$�%������� 60×60×60 �	������� !">���!

��<=�
����
�!
�����
��<�������
�! !"?�� (F�G !" 14) 
 
 
 
 
 
 
 
 
 
 
 
 
 
������ 11 ���!�@� !�@��������H�?����� 12:00 �. ������������� 5 ��  !"��#
$�%�����������& 
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�������    
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������ 12 ���!�@� !�@����8�!"�7�
������E=�$�$@ (
) ���
��T�
�=���
$@ (�) ���������C�L\���L�# 
                 ����?�	
��� (�) ������������� 5 ��  !"��#
$�%�����������& $�T���G�R��
�������    

               (    =��
���� ��?A���������!���?=���B !"����@ p≤0.05 ���!�@� !�@C�� LSD) 

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  

NR = �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
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������ 13 ���!�@� !�@����8�!"�����T9E�$���� (
) �����H�?�$� ��G��� (�) ������������� 5 ��  !" 
                ��#
$�%�����������& $�T���G�R��
������� 

                (   =��
���� ��?A���������!���?=���B !"����@ p≤0.05 ���!�@� !�@C�� LSD) 

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  

NR = �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
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 ������ 14 ���!�@� !�@����%������������������
������������� 5 ��  !"��#
$�%������� 
                 ����& $�T��� !" =�
����� ��?�!��� ��  

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  

NR = �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
 
 

2. +6�7���"&�������������������*&#$
��������#$� 
 

 <�

���������%���HF�G�������� !"��#
$�����%��� !"��
����
�� �������� !" 4 �9� 

�;������� !"��#
$�%������� 40×40×40 �	�������  �;������� !"��#
$�����%��� 50×50×50 

�	�������  �;������� !"��#
$�%������� 60×60×60 �	������� C�� �E�%���!
��<=�
����
C��

������>�������� 32 mesh ����;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��
<=�
����
C��������>���� G@��� �?;����7#���
���������;������� !"��#
$�%������� 

60×60×60 �	������� !">���!
��<=�
����
 ���������;������� !"��#
$�%������� 40×40×40 
�	������� �!������
����
�� ��?A���������!���?=���B C��������;������� !"��#
$�%������� 

60×60×60 �	������� !">���!
��<=�
����
  �!�?;����7#���
�������
 !"?�� �9� 48.51 ��������� 

������� �9� ������;������� !"��#
$�%������� 50×50×50 �	�������  ���������;������� !"

��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  � ��
�@ 47.16 ��� 46.24 ��������� 

����=���@ ������;������� !"��#
$�%������� 40×40×40 �	�������  �!�?;����7#���
������;��
 !"?�� �9� 44.14 ���������  

����%���������������
 (�	����������1000 ���������) 
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 ?=�%��@�E=�%��
���8�!"� ������;������� !"��#
$�%������� 60×60×60 �	������� !"
>���!
��<=�
����
 ��
���� ��?A���������!���?=���B
�@������;������� !"��#
$�%������� 

40×40×40 �	�������  C��������;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��
<=�
����
 �!����8�!"��E=�%��
�� � ��
�@ 55.87 
��� ������� �9� ������;������� !"��#
$�%���

���� 60×60×60 �	������� !"�!
��<=�
����
  ���������;������� !"��#
$�%������� 

50×50×50 �	�������  � ��
�@ 51.17 ��� 49.28 
��� ����=���@ $�������;������� !"��#
$�%���

���� 40×40×40 �	�������  �!����8�!"��E=�%��
���;�� !"?�� �9� 45.14 
���  
 ����8�!"�����%�����9�
 G@�!������
���� ��?A���������!���?=���B $�������;�

������ !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
  
�@������;������� !"��#


$�%������� 40×40×40 �	�������  C��������;������� !"��#
$�%������� 60×60×60 
�	������� !">���!
��<=�
����
  >���!������
���� ��?A���
�@������;������� !"��#
$�%������� 

60×60×60 �	������� !"�!
��<=�
����
  �!����%�����9�
?#� � ��
�@ 6.06 ��� 5.90 ��������� 

����=���@ ?���������;������� !"��#
$�%������� 50×50×50 �	�������  >���!������
����

 ��?A���
�@������;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
 �����

����;������� !"��#
$�%������� 40×40×40 �	�������  C���!����%�����9�
 5.08 ��������� 

������;������� !"��#
$�%������� 40×40×40 �	�������  �!����%�����9�
�"=� !"?�� �9� 4.89 
���������  
 $�?�������8�!"�����������9E� ����8�!"��E=�%��
��9E� �����H�����
� !"������E=�>�; ���
�����H
�� !"> � ��>�; G@���>���!������
����
�� ��?A��� C������8�!"�����������9E�$������

�;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
 �!���?#� !"?�� �9� 4.86 ������ 

������� �9� ������;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
  ��

����;������� !"��#
$�%������� 50×50×50 �	�������  ���������;������� !"��#
$�%���

���� 40×40×40 �	�������  �9� 4.53, 4.52 ��� 4.32 ������ ����=���@  

 ����8�!"��E=�%��
��9E�$�������;������� !"��#
$�%������� 60×60×60 �	������� !">��
�!
��<=�
����
  �!���?#� !"?�� �9� 17.85 
��� ������� �9� ������;������� !"��#
$�%������� 

60×60×60 �	������� !"�!
��<=�
����
 ������;������� !"��#
$�%������� 50×50×50 

�	�������  ���������;������� !"��#
$�%������� 40×40×40 �	�������  �9� 17.78, 17.06 ��� 
16.98 
��� ����=���@  
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 ����8�!"������
� !"������E=�>�; G@$�������;������� !"��#
$�%������� 50×50×50 
�	�������  �!���?#� !"?�� �9� 19.24  mBrix ������� �9� ������;������� !"��#
$�%������� 

40×40×40 �	������� ������;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��

<=�
����
 ���������;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  C���!
��� 19.14, 18.90 ��� 18.88   mBrix ����=���@  

 ����8�!"������H
�� !"> � ��>�; G@ ������;������� !"��#
$�%������� 60×60×60 
�	������� !">���!
��<=�
����
  �!���?#� !"?�� �9� 0.590 ������� �9� ������;������� !"��#
$�%���

���� 40×40×40 �	�������  ������;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��

<=�
����
  ���������;������� !"��#
$�%������� 50×50×50 �	�������  �9� 0.585, 0.580 ��� 
0.566 ����=���@ 
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�������� 4  ���!�@� !�@��HF�G��������<�
�;����� 5 �� !"��#
$�%�����������& 
��HF�G ����%��� (�	�������) 

RR1        RR2        RR3        NR 
F-Test C.V.(%) 

����8�!"��?;����7#���
����� (���������) 
����8�!"��E=�%��
�� (
���) 
����8�!"�����%�����9�
 (���������) 
����8�!"�����������9E� (������) 
����8�!"��E=�%��
��9E� (
���) 
����8�!"������
� !"������E=�>�; (  mBrix) 
����8�!"������H
�� !"> � ��>�; 
(������	
���
��) 

44.14b  47.16ab  46.24ab  48.51a 
45.14b  49.28ab  51.17ab  55.87a 
  4.89c    5.08bc    5.90ab    6.06a 
  4.32      4.52        4.86        4.53 
16.98    17.06      17.78      17.85 
19.14    19.24      18.88      18.90 
  0.585    0.566      0.580      0.590 

* 
* 
* 
NS 
NS 
NS 
NS 

5.19 
10.32 
10.26 
10.31 
13.98 
6.11 
10.11 

(*= ��
����
�� ��?A���������!���?=���B !"����@ p≤0.05 ) 
NS=>���!������
����
�� ��?A��� 
����8�!"� !"
=�
�@C�������
K�����
��$��A���!��
��>���!������
����
�� C�����!�@� !�@
����8�!"�C����M! LSD  

RR1 = �;������� !"��#
$�%������� 40×40×40 �	������� !"�!
��<=�
����
 

RR2 = �;������� !"��#
$�%������� 50×50×50 �	������� !"�!
��<=�
����
 

RR3 = �;������� !"��#
$�%������� 60×60×60 �	������� !"�!
��<=�
����
  

NR = �;������� !"��#
$�%������� 60×60×60 �	������� !">���!
��<=�
����
 
 
 




